Alg 3/Trig



REVIEW




CIRCLES AND ELLIPSES

1.  Find the distance between the given pair of points.

     a)   (-3,8) and  (0,-2)



b)  (
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, 4) and  (
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, -3)

2.  Find the midpoint between the following points:

     a)  (-3,8)  and  (0,-2)



b)  
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Find the center and radius of each circle.  Sketch.

3.  
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4.  
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4x4y16x36y50


Graph and lavel center, foci, and major and minor axis endpoints of the following ellipses:

5.  
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4x9y16x54y610




6.  
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25x16y64y3360


7.  
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3x5y6530x10y


Write the equations for the conic with the following information.

8.  Foci: (3,2)  (3,-6)     length of major axis = 12      9.  Endpoints of the diameter are (5,2) and (-3,2).

10. Center = (-5,2)     major axis = 
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,     foci = 
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511,2 and 511,2


Find the equation of the tangents to the following circles.

11. 
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2(x3)2(y1)50

    at the point (0,3)       12.  
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3x36x3y18y60

   at the point (-2,6)

Answers:  
1.  a)  d = 
[image: image14.wmf]109

        b)  d = 
[image: image15.wmf]213



2.  a)  mp = 
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       b)   mp = 
[image: image17.wmf]æö

ç÷

èø

1113

,

308


3.  C (0,3)   r = 5
(5, 0), (-5, 0)
 (0, 8), (0, -2)

4.  C 
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   r = 
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5.  C (-2,3)     F  
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MA (1,3)   (-5,3);    ma (-2, 5) (-2, 1)
6.  C (0,-2)     F  (0,1), (0,-5)     MA (0,3),  (0,-7);     ma (4, -2), (-4, -2)
7.  C (-5,-1)    F  
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8.  
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9.  
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